[ Efficiency vs vertpos |

~ 0.5

] 1+ ‘ :
0.95

1072 107 1

10 0
TP vertr (cr%)

2

MKEIT_TToriginal
L

mkFit_TT p
mkFit_TT_pLW
mkFit TT pLW_1H

<4

DQ
DQ
Efficiend —— B3

~n 0.2
T e
%] C . . . .
Z0.16------ AR IEL SRR feeeee ]
> . . . .

g C : : : :
R S R S

B F : : : :
£0.12-- R R SR

o E : : : :
O ] SRR St |
0.08F--- """"

0.06f -+« sieee b fiedroeencioneens il
0.04f i Al fpp - +

SRURRIRONN I 1| N
ool

L_\Q'....i....l....l...

Ratio

H
T

™3P =20 -10 0 10

20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.2
>
A.0.18F
E L
50.16
20.14F
P E
20.12

efticie

0.04F
0.02F

e
|

............

FRVS)

0.06F----F--}--if---- S P el
F : ¥ : : : H .

it 1 B R

. b,

Ratio

h=----- s - Mt -G

0.952

Sim.

2015 -10 -5 0 5 10 15 20

PV z (cm)




	Contents
	Page 1


